PRODUCT INFORMATION / ®&RiEHk

- BEAE: - MEE

- BUWEEEE: M(3T47L) — L(5—2)

- BEEE: XA, [FEmE

- h5—: W= RIAb

- P YALY MURTFTUSI L33 % CSHRIZEN BBEIERNSD
XaEMESRFVLET

Features / ¥5#4:

- 2CU 519 —%H

- Wave h—7>3 X7 LIS

- h—JhiI=I&E

- FILWZAA - RIANLDTHA -T2 "I TT

05/2024/V1

%SilentGliss



SYSTEM SPECIFICATIONS / S A7 LfIEk

A. SYSTEM
DIMENSIONS /
SAT L EEEHE

h—-FoRKEE -
Wave 2C 51449

h—-TOmRKEER -
2C J5449— or O—
5—

N
3 o wu ~ o

w w N N (2} [} (2} [}

w N N w o o 0o 0o

(kg max.)

%SilentGliss

SG 3870



B. PROFILE / L=l

L=LEn-JITI0
TRk

AEIVEDEHFHETE
ROFZECTHIGUE
9, 0E#IBZZN—T
AITIEDWTIE 50cm
MBERDET, FEMEH
HABBVEDECE
(A

C.HOW TO
MEASURE /
RIETTE

FITTING /

FEHREREBIRICOOVTE. HSHASEVEDEE

A. FITTING
INFORMATION /
HEEHER

I35y NEOAIE

B. CEILING
FITTING /
KHEEE

935>7 - SG 3825

SG 3870

SG 11190
L=l
HAE:
v >26cm

[
Y

!

7

= Jan
A=t el
AN

100 max. 500 max. 500

SN S

o g

[

g

min. 60 min. 120

CERRIBICAEDEERRSGEREE

%SilentGliss

A BR
B: EfE
C: =T MEHBERETOES

D: #F1-RES

E: €—J574UF4F— SG 10731 RHSDOFR/I\ES
150 cm

mh &



J345yb - SG 3832

C. WALL FITTING /
IEMAEEERE

AN—=NI1YIA
(/EhER)

SG 3825
93>

i

min. 120

_ min.60 |

CERRRICEDEERSERE IS

38/\/‘2()}
<

SG 3832
J345yh

7

AX—NJ4wI2tyh SG 11200 - SG 11204 & 7

| 7

37yh SG 3832:
WEEBT NILMRT SG 10492 (M4x8)

7

Z

x

AI)IF7ARX— NIty SG 11210 -

SG 11214 & T34k SG 3832:

WMHEEBG NILMRS SG 10492 (M4x8)

%SilentGliss

Smart FixSmart Fix / AX— X mm X mm
199X (SG 3825) (SG 3832)
SG 11200/ SG 11210 52 70
SG 11201 /SG 11211 72 90
SG 11202/ SG 11212 92 110
SG 11203 /SG 11213 112 130
SG 11204/ SG 11214 142 160
SG 11156 182 - 210 200 - 228
SG 3870



SG 3870

Y

A
1

A= )=YILAR—RI1vIAyh SG 11156 & J5

vk SG 3832:

WEEBE NILIRT SG 10407 (M4x10)

— X
AN—-hJ1
3wk SG 3825:

ywJAtyh SG 11200 - SG 11204 & J

WHEERG NILMRS SG 10074 (M4x8)

N\

j

7

ADITAI—RI49IAzyh SG 11210 -
SG 11214 & J54YhSG 3825:
WEEBE NILIRT SG 10074 (M4x8)

syb SG 3825:

x

I AI—RI1wHAtyh SG 11156 & J35

WELS RILNES SG 11158 (M4x12)

A 20 » <
4
SG 3825 SG 3832 SG 10074 SG 10407
D327 SZAYIN +9IMILRRT M4x8 +FRIRILRRS M4x10
N > o
\\\\\\ \\\\\\\ 60 & 80 $
o4 S N
16{ 62 A > 62
X’ o N’
SG 10492 SG 11158 SG 11200 SG 11201

+FRRIVBRS M4x8

BIRILbRS M4x12

%SilentGliss

AN—=NJ4wI2yh 60 mm

AN—=RNI1wHI ALy 80 mm



/\ /\ N 607
<2 AN s S8y
a S I 62 / 62 </ 62 *16/4 29
o ¥ oo ~y S ~y
SG 11202 SG 11203 SG 11204 SG 11210

AN—=NJ1wIXtyhk 100

AN—=NIJ1wIRyh 120

AN—=NJ1wIRtzyh 150
mm

ADIT AN =TI Aty b
60 mm

80", o™ o T
L 29 £ 23 N BT
A16/29 V29 <29 29

A
16
< o %
SG 11211 SG 11212 SG 11213 SG 11214

ADIT AR —RI4wI Xty b
80 mm

200 \A
62
/ ™
\Aﬂ

NS
SG 11156
IZN=HIAI =R IT(vIR
vk 200 mm

> 5

SG 11295 SG 11302

ADIFP AR —RI4wI Xty b
100 mm

%SilentGliss

ADIT AR —RIT1wI X2y b
120 mm

SYSTEM OPTIONS / S5 LATZ3a>

A. WAVE /
WAVE h—5>

ADIFP AR —RI4wI Xty b
150 mm

Standard components / AR ED R

- SG 11295 IV RANT

- SG 11302 Wave 2C J51449— 80

SG 3870



SG 3870

607 > Optional components / A7 3> HERkEBER:
% - SG 6364 Wave THA5>33>
- SG 6365 Wave \>fi—
SG 6364 SG 6365 SG 11303 o
- SG 11303 Wave 2C J5449— 60

% Curtain components / 1—F &Rk EBGa:
99999 - SG 3582 7%

@ - SG 6349 Wave 77

SG 3582 SG 6349

Wave stack / TefzdHMX - Wave 2C U519 — (AZHEAERLEDTR)

7 Z A = Stack depth / BITDffedH%
%/ // B = Stack size / TRDfZfz M
T ] C = Min. distance / B2/\EIBR
S A
. e
Z

-t L d A L
C 2xC
Wave2CH5A4 IO =T DEH BITOREHMK TBORHMY /) \E bR
— 80 /{83 w bR A B* C
80/175 6 21 140 ”‘;?;Ob?n‘” 90
80/2.0 7 ~23 160 ”‘;?;OI‘/?T]‘” 100
Wave 2C 9514 TVIDIT =T DEH BITOREHMY TBORHY /) \bR
— 60 / &% v NERR A B* C
60/1.7 4 ~2. 100 ”‘;\g&?n‘” 70
60/2.0 5 23 120 73;’_'2\;5?37 80

*Stack size B /IzleHX (BREERERKERTR)
- single stack / FlcleX = + 130 mm

- pair stack / WmfclzdMt = + 30 mm (FRID
fzHX)

*Stack size B / TeledH (AT 3 iERERGR)
- single stack / Flcled+X = + 200 mm

- pair stack / mfclzdMt = + 200 mm (FAID
fefea )

%SilentGliss



PARTS / 5Bam

A. STANDARD PARTS / BR#E8Bam

B. OPTIONAL PARTS / A7>3>EB

Wave I9A7>23>

SG 3090 SG 3340 SG 10492
J-Rg3.5m T>23>IIA b +FARILRRS M4x8
SG 3832 SG 3582 SG 11156
I3k 99 % I S P
200 mm
SG 6086 SG 3802 é\» SG 11200
2T XMy F RO DENS I, . ZI—hI4wH2Eyhk 60 m
~J
SG 6288 . SG3825 > SG 11201
A—NR=59T7— 1 (/-\”@)) 9557 : 23— NJ1vH 2tk 80 mn
SG 10731 SG 5115 SG 11202
FrALRE=TF1 UFAF—tyh / SIUN / IRISATUYD ) 23— NI1vH2Ey R 100 mn
<
SG 11190 SG 6063 SG 11203
L— A—N=59T7— 1 % 23— NI4952Eyk 120 m
SG 11285 SG 6098 SG 11204
A4 Ry BRSO - % AX—=NI4vHZLyh 150 mm
SG 11300 SG 6283 Sy SG 11210
2C V549- —1-52F- y P ZUIFAI—NI19IREYh 60
Ny I mm
SG 6349 Sw, SG11211
Wave 5—7 /\ ZOIFAR— N I19IA ek 80
S I mim
SG 6364 SG 11212

ADIT AR —bIT4wIRZvh 100
mm

SG 6365 s SG 11213

Wave )\> 7~ / ) RVIFAI-FI4vIREYR 120
< mm

SG 10157 SG 11214

UIyd SBIEEEm

ADIT7 AR —bIJ4wIRZvh 150
mm

SG 10277

+FRRIVDRS M4x12

5G 11230
DEAL—)L *BorEREEm

SG 10407

+FNRIVBRS M4x10

Bl

SG 11238
VEANRY B EREEmR

%SilentGliss

SG 3870



SG 11295
IRANT

SG 11302
Wave 2C 75449 — 80 mn

SG 11303
Wave 2C J5449— 60 mn

L

SG 3870 %SilentGliss



10

%SilentGliss

SG 3870



SG 3870

%SilentGliss



12

%SilentGliss

SG 3870



	SG 3870
	 Product Information / 製品情報 
	 System Specifications / システム仕様 
	 System Dimensions / システム寸法範囲 
	カーテン最大重量 - Wave 2C グライダー
	カーテン最大重量 - 2C グライダー or ローラー

	 Profile / レール 
	レールとカーブ加工の情報
	SG 11190


	 How To Measure / 測定方法 

	 Fitting / 設置範囲 
	 Fitting Information / 設置範囲情報 
	ブラケット類の位置

	 Ceiling fitting / 天井設置 
	クランプ - SG 3825
	SG 3825

	ブラケット - SG 3832
	SG 3832


	 Wall fitting / 正面壁設置 
	スマートフィックス (補助金具)
	SG 3825
	SG 3832
	SG 10074
	SG 10407
	SG 10492
	SG 11158
	SG 11200
	SG 11201
	SG 11202
	SG 11203
	SG 11204
	SG 11210
	SG 11211
	SG 11212
	SG 11213
	SG 11214
	SG 11156



	 System Options / システムオプション 
	 WAVE / WAVE カーテン 

	 Parts / 部品 
	 Standard Parts / 標準部品 
	 Optional Parts / オプション部品 



